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QUESTION 1

The power of the indoor AP is generally mW. 

A. 100 

B. 500 

C. 800 

D. 50 

Correct Answer: A 

 

QUESTION 2

Which of the following Huawei APs supports SFP fiber interfaces? 

A. AP6010DN 

B. AP6310SN 

C. AP6510DN 

D. AP6610DN 

Correct Answer: A 

 

QUESTION 3

Which of the following features (BCD) (Select 3 Answers) is available for the Huawei WLAN Planning Tool. 

A. Support automatic identification and identification of obstacles 

B. Support common coverage area and key coverage area division 

C. Support automatic deployment of AP location 

D. Support WLAN planning report for export specification 

Correct Answer: BCD 

 

QUESTION 4

The correct statement about WDS is (Select 2 Answers)? 

A. Connect two separate LAN segments through a wireless bridge and provide data transmission between them 

B. WDS uses the 2.4GHz band as the bridge frequency band by default. 
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C. Scalability is good, and there is no need to lay new wired connections and deploy more APs 

D. Huawei indoor AP does not support WDS function. 

Correct Answer: AC 

 

QUESTION 5

In a large-scale wireless network deployment scenario, when the AC is configured as "Layer 3 Networking 

+

 Side-by-Side Mode + Direct Forwarding", where should the wireless user\\'s gateway be located? 

A. 

Convergence layer on the Layer 3 switch 

B. 

One-arm router on the 

C. 

AC on the 

D. 

AP 

Correct Answer: A 
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